Chapter 12-1 and 12-2 SELF EVALUATION
Name: _______________________________________ Date: November 15, 2019
Multiple Choice
Write the letter that best answers the question or completes the statement on the line provided.
[image: image1.png]


 1.
What did Griffith observe when he injected into mice a mixture of heat-killed disease-causing bacteria and live harmless bacteria?
a.
The disease-causing bacteria changed into harmless bacteria.
b.
The mice developed pneumonia.
c.
The harmless bacteria died.
d.
The mice were unaffected.
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 2.
Which of the following is a nucleotide found in DNA?
a.
ribose + phosphate group + thymine
b.
ribose + phosphate group + uracil
c.
deoxyribose + phosphate group + uracil
d.
deoxyribose + phosphate group + cytosine
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 3.
DNA replication results in two DNA molecules,
a.
each with two new strands.
b.
one with two new strands and the other with two original strands.
c.
each with one new strand and one original strand.
d.
each with two original strands.
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 4.
During mitosis, the
a.
DNA molecules unwind.
b.
histones and DNA molecules separate.
c.
DNA molecules become more tightly coiled.
d.
nucleosomes become less tightly packed.
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 5.
Which of the following statements is true?
a.
A promoter determines whether a gene is expressed.
b.
An expressed gene is turned off.
c.
Proteins that bind to regulatory sites on DNA determine whether a gene is expressed.
d.
RNA polymerase regulates gene expression.
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6.
Because of base pairing in DNA, the percentage of:
a.
adenine molecules in DNA is about equal to the percentage of guanine molecules.


b.
pyrimidines in DNA is about equal to the percentage of purines.


c.
purines in DNA is much greater than the percentage of pyrimidines.


d.
cytosine molecules in DNA is much greater than the percentage of guanine molecules.
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Completion
Complete each statement on the line provided.

7.
The structure labeled X in Figure 1 is a(an) __________________________.
8. Figure 1 shows the structure of a _____________________.

9. DNA is copied during a process called _______________________.
10. DNA contains the sugar _____________________________.

11. The backbone of a DNA chain is formed by ____________________ and _______________________ groups of each nucleotide.

12. During DNA replication, A DNA strand that has the bases GATTCGA produces a complementary strand with the bases _______________________.
13. According to the principle of base pairing ________________ bonds forms between nitrogen bases in a DNA molecule.
14. The Watson and Crick model of DNA is a _________________________ (2 words), in which two strands are wound around each other.
15. A ___________________________ is a kind of virus that infects and kills bacteria.
16. In DNA, the two nitrogen bases __________________ and __________________ belong to the group of compounds known as purines.
17. In DNA, the two nitrogen bases __________________ and __________________ belong to the group of compounds known as pyrimidines.
18. _____________________________________ is the name of the site where DNA replication and separation occurs.
SHORT ANSWER
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19.
At the beginning of DNA replication, what two processes “unzip” the two strands of a
DNA molecule?

20.  Describe the structure and composition of a DNA molecule.  
LONG ANSWER

21.  Describe in full detail, how DNA replication occurs.  Start by providing a labeled diagram of a DNA model with at least SIX base pairs.
NOTE:  REVIEW END OF CHAPTER QUESTIONS FOR TEST TO BE HELD ON MONDAY, NOVEMBER 18, 2019
